1.

th& 4 DE/BCY o, x 2y o 2
2 Tstofet.

> H

> E

> EE: x=75
> EHEy=5
B
6:(6+4):g:x
6x =45,x =175
6:4:y:?

4y =20,y =5




2.

th& ¥ Zo] AD//BCRI Atthe| &
ABCD°ll4| AB,CD ©] $3& 217} M,N¢]
2 & o, MN 9] Zoj+&?

® 6cm @)8cm ® 9cm @ 10cm ® 12cm

X (6 + 10) = 8(cm)

DN | =

MN = %(ADJF%) =




O 2-lA A G £ aABC o] 77 SAL W, B7]oA &2 92
Ae =t

A

wy E

LN,

@ ABCG = %AABC

© #HG = ADEF o] 24 F4do]tt.

© AABC 9] &= ADEF &3 9] 2 sjo]t}.
® EF = BD

@PG=GD=1:3

=l
=

>
s l= )

@ AG = ADEF o] 27 £4o]n& PG =GD = 1: 2 o]t}




)

ol
L

oju
i

@ 6170 ® 6471

® 5974




U el Zolzk 2m 1 ezt gl of
ubh o] 17o] 20]7} 3m 2w, ok 1 AN

N
Holl A L9 ol & +otolet. (T, AHi}

NN
#p.e Sol})

N
N

D)16m @ 18m ® 20m

@ 22m ® 24m

Hol| v]X -] AA doly=2:3=4:y
Ly=6

wrepA] RO ZolE x 2 5tH 2:3 = x: (18 +6)
co3x =48

webA] x = 16(m) ©|tt.




6.

3l
e
£
2l
1o,
Y,
o,
i

& oA BD: DA =2:1°]1 BC =
T L.
A
D
2.
B ff C i
> =
> ™ 6

s

A 2] Ao o5
..GC=2xDE =14

ABDF 9|4 BC = CF, CG // DF ©]
2] 9] oof o5

W:@,@:%W

welA DF = 2x4 =8 0|2 &
EF =8-2=6 °|th.

4 C 2 A1} DF o Paah Ao

AAGC °|A DE//GC, AD = DG ©°|2




T2 1712 AABC U H21 5 0 & A

i

A
a1, Zh ol Y A S 12 Aot} A
7+ P,Q,R 2] Wol7F 2+ 25¢cm? |, 16cm? A
, lem? o o, AABC 9] Hlo]&=? ; (X R
Q
@ 42cm? @ 50cm? B C
@ 64cm? @ 95cm?
(®)100cm?

M5 e = | =5 2 4 = 1~

A2 P,QR o BHO] dolE 77} 5,4,1 o]k sk BC
5+4+1=10°]ct.

12:10% = 1:100 °]|2& AABC = 100 (cm?)




